BIOLOGY

BOOKS - FULL MARKS BIOLOGY (TAMIL
ENGLISH)

PRINCIPLES OF INHERITANCE AND
VARIATION

Textbook Evaluation Solved



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. Haemophilia is more common in males

because it is a

A.Recessive character carried by Y -

chromosome

B. Dominant character carried by Y -

chromosome

C.Dominant trait carried by X -

chromosome

D. Recessive trait carried by X-chromosome


https://dl.doubtnut.com/l/_0mGammGyrQSh

Answer: D

o Watch Video Solution

2. ABO blood group in man is controlled by

A. Multiple alleles

B. Lethal genes

C. Sex linked genes

D.Y -linked genes

Answer: A


https://dl.doubtnut.com/l/_0mGammGyrQSh
https://dl.doubtnut.com/l/_YFfTOwN2Ishp

° Watch Video Solution

3. Three children of a family have blood groups

A, AB and B. What could be the genotypes of

their parents?

A IT4TBand ii

B.I4T° and IBI°

C.IBI8 and 1414

D.I4T4 and ii

Answer: B


https://dl.doubtnut.com/l/_YFfTOwN2Ishp
https://dl.doubtnut.com/l/_g6Vmm7bGVdzF

° Watch Video Solution

4. Which of the following is not correct?

A. Three or more alleles of a trait in the

poulation are called multiple alleles .

B. A normal gene undergoes mutations to

form many alleles

C. Multiple alleles map at different loci of a

chromosome


https://dl.doubtnut.com/l/_g6Vmm7bGVdzF
https://dl.doubtnut.com/l/_koc1Tqbtll6f

D. A diploid organism has only two alleles

out of many in the populations .

Answer: C

o Watch Video Solution

5. Which of the following phenotypes in the
progeny are possible from the parental

combination AxB?

A. A and B only


https://dl.doubtnut.com/l/_koc1Tqbtll6f
https://dl.doubtnut.com/l/_S63bok2s0U8n

B. AB and AB only

C. AB only

D.AB,AB and O

Answer: D

o Watch Video Solution

6. Which of the following phenotypes is not
possible in the progeny of the parental

genotypic combination T47° XT415?


https://dl.doubtnut.com/l/_S63bok2s0U8n
https://dl.doubtnut.com/l/_dLWMc1wWIVHi

A. AB

B.O

C.A

D.B

Answer: B

o Watch Video Solution

7. Which of the following is true about Rh
factor in the offspring of a parental

combination DdXDd (both Rh positive)?


https://dl.doubtnut.com/l/_dLWMc1wWIVHi
https://dl.doubtnut.com/l/_A852QUaV2BGz

A. (a) All will be Rh positive
B. (b) Half will be Rh positive

3 . .
C. (c) About 1 will be Rh negative

D. (d) About one fourth will be Rh negative

Answer: D

o Watch Video Solution

8. What can be the blood group of offspring

when both parents have AB blood group?


https://dl.doubtnut.com/l/_A852QUaV2BGz
https://dl.doubtnut.com/l/_dZkQMwhfonfL

A. AB and AB

B.AB, AB and O

C.AB,ABand O

D.Aand B only

Answer: B

o Watch Video Solution

9. If the childs blood group is 'O' and fathers
blood group is 'A' and mother's blood group is

'B' the genetype of the parents will be


https://dl.doubtnut.com/l/_dZkQMwhfonfL
https://dl.doubtnut.com/l/_zPjhajGUHIZf

A TAT4 and IB1°

B.I47T° and IZI°

C.I4719 and I°1°

D. 1919 and IBIP

Answer: B

o Watch Video Solution

10. XO type of sex determination and XY type

of sex determination are examples of.


https://dl.doubtnut.com/l/_zPjhajGUHIZf
https://dl.doubtnut.com/l/_naBqAsRIrA9Q

A. Male heterogamety

B. Female heterogamety

C. Male homogeneity

D. Both (b) and (c)

Answer: A

o Watch Video Solution

11. In an accident there is great loss of blood
and there is no time to analyse the blood

group which blood can be safely transferred?


https://dl.doubtnut.com/l/_naBqAsRIrA9Q
https://dl.doubtnut.com/l/_Vg4jRbywIwTf

A. O' and Rh negative

B. O' and Rh positive

C.B'and Rh negative

D. AB' and Rh positive

Answer: A

o Watch Video Solution

12. Father of a child is colourblind man and a

normal women produces.............. :


https://dl.doubtnut.com/l/_Vg4jRbywIwTf
https://dl.doubtnut.com/l/_4VeFFWHchc2T

C.(c) 1

D. (d) 0.75

Answer: B

° Watch Video Solution

13. A marriage between a colourblind man and

a normal woman produces


https://dl.doubtnut.com/l/_4VeFFWHchc2T
https://dl.doubtnut.com/l/_vp3DmYTrSMfl

A. All carrier daughters and normal sons

B.50% carrier daughters, 50% normal

daughters

C. 50% colourblind sons, 50% normal sons

D. All carrier offsprings

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_vp3DmYTrSMfl

14. Mangolism is a genetic disorder which is

caused by the presence of an extra

chromosome number.

A. 20

B. 21

C.4

D. 23

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vHJBsmoPdWOM

15. Klinefclter's syndrome is characterized by a

karyotype of ... :

A. XYY

B. XO

C. XXX

D. XXY

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_PKHb5NFdmo8T
https://dl.doubtnut.com/l/_1MwZ95DNQr5o

16. The person with Turner's syndrome has

A. small uterus

B. Rudimentary ovaries

C. Underdeveloped breasts

D. All of these

Answer: D

o Watch Video Solution

17. Patau's syndrome is also referred to as ......


https://dl.doubtnut.com/l/_1MwZ95DNQr5o
https://dl.doubtnut.com/l/_n3FhDpet5sJK

A. 13-Trisomy

B. 18-Trisormy

C. 21-Trisormy

D. None of these

Answer: A

o Watch Video Solution

18. Who is the founder of Modern Eugenics

movement?


https://dl.doubtnut.com/l/_n3FhDpet5sJK
https://dl.doubtnut.com/l/_rWdA78KmxCml

A. Mendel

B. Darwin

C. Fransis Galton

D. Karl pearson

Answer: C

o Watch Video Solution

19. Improvement of human race by

encouraging the healthy persons to marry


https://dl.doubtnut.com/l/_rWdA78KmxCml
https://dl.doubtnut.com/l/_YNt8pPO11GkD

early and produce large number of childern is

called

A. Positive eugenics

B. Negative eugenics

C. Positive euthenics

D. Positive euthenics

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YNt8pPO11GkD

20. The deals with the control of

several inherited human diseases especially

inborn errors metabolism.

A. Euthenics

B. Eugenics

C. Euthenics

D. All of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_XD548ssmgmi8

21.  "Universal Donor" and "Universal

Recipients" blood group are and

respectively.

A. AB,O

B. O,AB

C.AB

D.BA

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_sbtf61En5q6u

22. ZW-ZZ system of sex determination occurs

in

A. Fishes

B. Reptiles

C.Birds

D. All of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NOXPCtZRZS0a
https://dl.doubtnut.com/l/_CoE7qPujVjl9

23. Co-dominant blood group is

A A

B. AB

C.B

D.O

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_CoE7qPujVjl9

24. Which of the following is incorrect

regarding ZW-ZZ type of sex determination?

A. It occurs in birds and some reptiles

B. Females are homogametic and males are

hetrogametic

C. Male produce two types of gametes

D. It occurs in gypsy moth

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_osMSFDBrIQM4

25. Define haplodiploidy.

o Watch Video Solution

26. Distinguish between heterogametic and

homogametic sex determination systems?

o Watch Video Solution

27. What is Lyonisation?

| & I


https://dl.doubtnut.com/l/_osMSFDBrIQM4
https://dl.doubtnut.com/l/_TMt3eqlqFlRo
https://dl.doubtnut.com/l/_jT13cdynMxGS
https://dl.doubtnut.com/l/_ifXt94RopueN

| ¥ Watch Video Solution |

28. Define criss-cross inheritance.

o Watch Video Solution

29. Why are sex linked recessive characters

more common in the male human beings?

o Watch Video Solution



https://dl.doubtnut.com/l/_ifXt94RopueN
https://dl.doubtnut.com/l/_4qAmrRuGO1hi
https://dl.doubtnut.com/l/_DZPAygeFiVu4

30. What are holandric genes?

o Watch Video Solution

31. Mention any three symptoms of (a)

Phenylketonuria (b) Down's syndrome

o Watch Video Solution

32. Mention the symptoms of Down's

syndrome.



https://dl.doubtnut.com/l/_L3arQLwRq65Y
https://dl.doubtnut.com/l/_2Albd1SOWNwA
https://dl.doubtnut.com/l/_CZYAhvlQLazN

o Watch Video Solution

33. Differentiate Intersexes from Supersexes.

o Watch Video Solution

34. Explain the genetic basis of ABO blood

grouping man.

° Watch Video Solution



https://dl.doubtnut.com/l/_CZYAhvlQLazN
https://dl.doubtnut.com/l/_P5qN9xsmOE2y
https://dl.doubtnut.com/l/_O0cnQj2g80sR

35. How is sex determined in human beings?

o Watch Video Solution

36. Explain male heterogamety.

o Watch Video Solution

37. Brief about female heterogamety.

o Watch Video Solution



https://dl.doubtnut.com/l/_JJpEbqsM61vt
https://dl.doubtnut.com/l/_Ib20jpWDsDpG
https://dl.doubtnut.com/l/_fetGQLUx7y6U

38. Give an account of genetic control of Rh

factor ?

o Watch Video Solution

39. Explain the mode of sex determination in

honeybees.

o Watch Video Solution



https://dl.doubtnut.com/l/_ItjISW8Wc6Vo
https://dl.doubtnut.com/l/_JmItMCAoi9JD

40. Disccus the genic balance mechanism of

sex determination in Drosophila ?

o Watch Video Solution

41. List any three applications of karyotype.

o Watch Video Solution

42. What is inheritance of acquired

characters?



https://dl.doubtnut.com/l/_G7XoCGmN92hV
https://dl.doubtnut.com/l/_jKKhaTl1vkel
https://dl.doubtnut.com/l/_hdk55V6av7Uj

o Watch Video Solution

43. What are extra chromosomal inheritance ?

Explain with an example .

o Watch Video Solution

44, Comment on the methods of Eugenics.

o Watch Video Solution

Additional Questions 1 Mark Question


https://dl.doubtnut.com/l/_hdk55V6av7Uj
https://dl.doubtnut.com/l/_WhQTqtZRvpUW
https://dl.doubtnut.com/l/_oatvN01yejOc

1. If a colorblind female marries a normal male,

theirsonswillbe ..ccovvveeiia..... )

A. All normal visioned

B. All color blinded

C.One half normal visioned other half

colorblind

D. There fourth colorblind one fourth

normal


https://dl.doubtnut.com/l/_VkdrSPjR7Whz

Answer: c

o Watch Video Solution

2. Excess hair growth on pinna is feature

noticed only in males because................. :

A. Males produce more testosterone

B. gene responsible for the character is

located in Y-chromosome


https://dl.doubtnut.com/l/_VkdrSPjR7Whz
https://dl.doubtnut.com/l/_iWMXEytNd41j

C. Estrogen suppresses the character in

females

D.females act only as a carriers for this

character

Answer: b

o Watch Video Solution

3. ABO blood group in human is an example of

A. Multiple allelism


https://dl.doubtnut.com/l/_iWMXEytNd41j
https://dl.doubtnut.com/l/_pRCfZOvYf3rX

B. Pleotropism

C. Incomplete dominance

D. Polygenic mechanism

Answer: a

o Watch Video Solution

4. Unit of hearedityis ...................

A. allele

B. allelomorph


https://dl.doubtnut.com/l/_pRCfZOvYf3rX
https://dl.doubtnut.com/l/_BLpSIjh8Iusg

C. trait

D. gene

Answer: d

° Watch Video Solution

5. Identify the proper dominance hierarchy.

A@I4=1°> 1P

B.(b)I*=1I%>0

CI°=18>14


https://dl.doubtnut.com/l/_BLpSIjh8Iusg
https://dl.doubtnut.com/l/_ft2iXf0Fy3Ho

D.(AIE=T14>0

Answer: b

° Watch Video Solution

6. Haemophilia in man is due to

A. X-linked dominant gene

B. X-linked recessive gene

C. Y-linked recessive gene

D. Allosomal abnormality


https://dl.doubtnut.com/l/_ft2iXf0Fy3Ho
https://dl.doubtnut.com/l/_aIguqUSVA6Mw

Answer: b

o Watch Video Solution

7.1dentify the correct statement.

A. Homozygous sex chromosome

produce males in Drosophila

B. Homozygous sex chromosome

determine female sex in birds

(XX)

(22)


https://dl.doubtnut.com/l/_aIguqUSVA6Mw
https://dl.doubtnut.com/l/_V8fMRN36CKK0

C. Heterozygous sex chromosome (XO)

determine male sex in grasshopper

D. Heterozygous sex chromosome (ZW)

determine male sex in gypsy moth

Answer: C

o Watch Video Solution

8. Which blood group doesnot possess

antibodies?


https://dl.doubtnut.com/l/_V8fMRN36CKK0
https://dl.doubtnut.com/l/_3fYWViDgr8U3

A TATB

B.1971¢

c. 149

D. 1518

Answer: a

o Watch Video Solution

9. Assertion (A): On diagnosis. Ramu is
reported to have under developed testis and

gynaecomastia.


https://dl.doubtnut.com/l/_3fYWViDgr8U3
https://dl.doubtnut.com/l/_XY5BW3HYeb3z

Reason (R): His karyotype reveals XXY

condition.

A.Ais right but R is worng

B. R explains A

C.Both A and R are wrong

D.Both and R are right but R is not the

correct explanation of A

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_XY5BW3HYeb3z
https://dl.doubtnut.com/l/_SMuQWnOGkRAQ

10. Find out the odd man out

A. Kilnefelter's syndrome

B. Turner's syndrome

C. Huntington's chorea

D. 13-Trisomy

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_SMuQWnOGkRAQ

1. Pick out the odd one out regarding

Mendelian disorder.

A. Thalassemia

B. phenylketonuria

C. Albinism

D. Huntington's chorea

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_RaKWyIgyC0iX
https://dl.doubtnut.com/l/_OVKsWtDZHlsh

12. Match the following
A Down ’s syndrome 1. 44AA + XXY

BPatau’s Syndrome 1. 4bAA + XY
C Klinefelter’s syndrome iii. 4AA + XO
D Turner’s sundrome iv. 45AA + XX
A.(a) A-iv,B-ii,C-i,D -iii
B.(b) A-ii,B-iv,C-iii,D-i

C.(c) A-i,B-iv, C-iii, D - i

D.A-iii,B-i,C-ii,D-iv

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_OVKsWtDZHlsh

13. If a colorblind female marries a normal

male, their sons willbe ................... .

Al:1

B.3:1

C.1:3

D. All four are normal visioned

Answer: c

o Watch Video Solution



https://dl.doubtnut.com/l/_bNnja68CKlaF
https://dl.doubtnut.com/l/_z4Hhmub33YxU

14. Pick out the correct statement.

(1) Karyotyping helps in gender identification
(i) Holandric genes are located on X-
chromosome

(iii) Trisomy- 21 is an allosomal abnormality

(i) Cooley's anaemia is an autosomal

recessive disorder

A. |, iii, Iv are correct

B.i and iii are correct

C.l and iv are correct

D. ivonly correct


https://dl.doubtnut.com/l/_z4Hhmub33YxU

Answer: c

o Watch Video Solution

15.DOPAstands for......ccvvvvee..... . )

A. 3, 4 - dihydroxy phenyl acetate

B. 3, 4 - dihydroxy phenyl alanine

C. 3,4 - dihydroxy phenyl asparate

D. 3, 4 - dihydroxy phenyl aldehyde

Answer: b


https://dl.doubtnut.com/l/_z4Hhmub33YxU
https://dl.doubtnut.com/l/_gGW8NIZ40KQq

° Watch Video Solution

16. Antiodies developed against Rh antigen is

called

A.IgE
B.IgG
C.IgA

D. IgB

Answer: b

| 8 l


https://dl.doubtnut.com/l/_gGW8NIZ40KQq
https://dl.doubtnut.com/l/_jwXsYIKmWy4s

17. Which of the following symbol is used in

pedigree analysis to represent unspecified

sex?



https://dl.doubtnut.com/l/_jwXsYIKmWy4s
https://dl.doubtnut.com/l/_SR7IpaUZg7cW

D. L

Answer: d

° Watch Video Solution

18. A colorblind man marries a women with
normal sight who has no history of color
blindness in her family. What is the probability

of their grandson being colorblind?

Al/4


https://dl.doubtnut.com/l/_SR7IpaUZg7cW
https://dl.doubtnut.com/l/_o2unQZm2CrWc

B.3/4
c.2/4

D.4/4

Answer: a

o Watch Video Solution

19. What are multiple alleles?

A.at different loci on

chromosome

homologous


https://dl.doubtnut.com/l/_o2unQZm2CrWc
https://dl.doubtnut.com/l/_8n0Ld8uHKF1v

B.at same locus on homologous

chromosome

C.at different loci on non- homologous

chromosome

D. at different chromosome

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_8n0Ld8uHKF1v

20. Identify the incorrect statement regarding

haplodiploidy

A. Haplodiploidy is noticed in honeybees

and drosophila

B. Unfertilized eggs develop into drones

C. Fertilized eggs develop into queen and

worker bees

D. Males have half the total chromosomal

number


https://dl.doubtnut.com/l/_uGWMziByy0GD

Answer: a

o Watch Video Solution

21. I4 and I® genes of ABO blood group are
A. Co-domiant
B. Pleotropic
C. Dominant and recessive

D. Epistatic


https://dl.doubtnut.com/l/_uGWMziByy0GD
https://dl.doubtnut.com/l/_cGKxtKTN4jJG

Answer: a

o Watch Video Solution

22. Which one of the following crosses show 3

- 1 ratio of normal visioned versus carrier

blind?

AXCXCx XTY

B.XTX¢ x XY ~

CXTXYx Xty -

D.XTXT x XY -


https://dl.doubtnut.com/l/_cGKxtKTN4jJG
https://dl.doubtnut.com/l/_XqhFZfnOJ6Sn

Answer: C

o Watch Video Solution

Additional Questions 2 Mark Question

1. Define multiple allelism.

° Watch Video Solution



https://dl.doubtnut.com/l/_XqhFZfnOJ6Sn
https://dl.doubtnut.com/l/_FDEdQRmOObLP

2. Name the discoverers of antigen A, B and

AB.

o Watch Video Solution

3. Type A blood should not be injected to a

person having B-blood group. Why ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Wj9tnZONMfxR
https://dl.doubtnut.com/l/_jGATigpJNv4d

4. State the allelic forms of | gene and mention

its chromosome location

o Watch Video Solution

5. Write the possible genotypes for a person

having B-blood group.

o Watch Video Solution

6. Write about Wiener hypothesis?



https://dl.doubtnut.com/l/_vfggOaqaMBrG
https://dl.doubtnut.com/l/_m6g7jK4K537i
https://dl.doubtnut.com/l/_E4IPoqL58yOs

o Watch Video Solution

7. Distinguish homogametes and

heterogametes.

o Watch Video Solution

8. ZW-ZZ system of sex determination occurs in

o Watch Video Solution



https://dl.doubtnut.com/l/_E4IPoqL58yOs
https://dl.doubtnut.com/l/_p8QasVk22YTx
https://dl.doubtnut.com/l/_cIPbkspXBZ76

9. Expand (a) SRY (b) TDF

o Watch Video Solution

10. Define Barr body.

o Watch Video Solution

11. Based on Lyon's hypothesis, mention the
number of Barr bodies in XXY males, XO

females.



https://dl.doubtnut.com/l/_AVLKnkRXSYyk
https://dl.doubtnut.com/l/_rFWBDoG0K0aB
https://dl.doubtnut.com/l/_JyQrieXa3zoE

o Watch Video Solution

12. State Lyon's hypothesis.

o Watch Video Solution

13. Define sex linked inheritance.

o Watch Video Solution

14. Explain the process of Karyotyping.



https://dl.doubtnut.com/l/_JyQrieXa3zoE
https://dl.doubtnut.com/l/_gxDcU9OItQbw
https://dl.doubtnut.com/l/_PpR7orZI8uJn
https://dl.doubtnut.com/l/_tvdNh1bypO6w

o Watch Video Solution

15. Explain the inheritance pattern of Y-linked

genes with example.

o Watch Video Solution

16. Observe the symbol used pedigree analysis,

and give the proper terms they represent.

@ o@® o FO «il

o Watch Video Solution



https://dl.doubtnut.com/l/_tvdNh1bypO6w
https://dl.doubtnut.com/l/_5a8k9P9Dv3aZ
https://dl.doubtnut.com/l/_BGQt9KB7gHBA

17. Write a brief note on pedigree analysis.

O Watch Video Solution

18. What do you mean by 'Mendelian disorder.

° Watch Video Solution

19. Name any four Mendelian disorders.

° Watch Video Solution



https://dl.doubtnut.com/l/_BGQt9KB7gHBA
https://dl.doubtnut.com/l/_l0JMAcaLKvpI
https://dl.doubtnut.com/l/_5bheOfPH1lF4
https://dl.doubtnut.com/l/_86VXvvfW1o5F

20. What is the phenotype of (a) I41°

(b) 1°1°

o Watch Video Solution

21. On which chromosome does HBA 1 gene

and HBB genes are located?

o Watch Video Solution



https://dl.doubtnut.com/l/_86VXvvfW1o5F
https://dl.doubtnut.com/l/_q6ZEdU17pwvx
https://dl.doubtnut.com/l/_KOih3rOF1Zln

22. Complete the equation.

A
(@) Phenylalanine —— Tyrosine

(b) DOPAL Melanin

o Watch Video Solution

23. Write a note on Huntington's chorea .

o Watch Video Solution

24. Comment on Trisomy-21



https://dl.doubtnut.com/l/_6cvn6QAQmJse
https://dl.doubtnut.com/l/_DMROyRAM50jJ
https://dl.doubtnut.com/l/_hQc55n2dvXc9

o Watch Video Solution

25. Mention the genetic makeup of Turner's
syndrome person and Klinerfelter's syndrome

person.

o Watch Video Solution

26. List out any four clinical symptoms of

Kilnefelter's syndrome.

o Watch Video Solution



https://dl.doubtnut.com/l/_hQc55n2dvXc9
https://dl.doubtnut.com/l/_cr7juYDVkxbI
https://dl.doubtnut.com/l/_IAdAtLAicfRP

27. Write the types of sex- determination
mechanisms does the following crosses as
shown. Give an example for each.

(a) Female XX with Male XO (b) Female ZW

with Male ZZ

° Watch Video Solution

28. What are they enzymes encoded by the

alleles

o Watch Video Solution



https://dl.doubtnut.com/l/_IAdAtLAicfRP
https://dl.doubtnut.com/l/_DqGPr7w9szJD
https://dl.doubtnut.com/l/_gsI6RDHhf2wQ

29. Draw a tabular column representing
various types of blood group in human beings,
their phenotypes, genotypes, antigens and

respective antibodies.

° Watch Video Solution

30. Give an account on Rhesus factor.

° Watch Video Solution



https://dl.doubtnut.com/l/_gsI6RDHhf2wQ
https://dl.doubtnut.com/l/_0hhiemXaS4e0
https://dl.doubtnut.com/l/_NhG9HmfZhRZr
https://dl.doubtnut.com/l/_Y7uybhQnUNCS

31. How Erythroblastosis fetalis can be

prevented ?

o Watch Video Solution

32. Explain XX-XO type of sex determination.

o Watch Video Solution

33. Name the type of sex-determination

mechanism of the following organisms.


https://dl.doubtnut.com/l/_Y7uybhQnUNCS
https://dl.doubtnut.com/l/_gfvVBYyIRZJe
https://dl.doubtnut.com/l/_k5WAKIoEqTTa

(@) Gypsy moth (b) Human beings

Butterflies

° Watch Video Solution

34. Complete the following cross.

AAZW x AAZZ

female male

o Watch Video Solution

35. Role of Y-chromosome is crucial

maleness - Justify.

for


https://dl.doubtnut.com/l/_k5WAKIoEqTTa
https://dl.doubtnut.com/l/_0EBrzejCQ6GT
https://dl.doubtnut.com/l/_c4BSq32Xf9IY

° Watch Video Solution

36. (a) Explain the statement that color
blindness is perfect example for criss -cross

inheritance with a flowchart.

° Watch Video Solution

37. How the Karyotype of lymphocytes was

prepared by Tjio and Levan? Edit How the


https://dl.doubtnut.com/l/_c4BSq32Xf9IY
https://dl.doubtnut.com/l/_QnrqRDQrSZ1C
https://dl.doubtnut.com/l/_eIkPqw08nQs7

Karyotype of lymphocytes was prepared by

Tjio

° Watch Video Solution

38. What is a genetic disorder? Mention its

types?

o Watch Video Solution

39. Explain the genetic basis of

Phenylketonuria.


https://dl.doubtnut.com/l/_eIkPqw08nQs7
https://dl.doubtnut.com/l/_iDTvO6Zr0vkk
https://dl.doubtnut.com/l/_MA8x9HeiLyBB

° Watch Video Solution

40. Give an account on Patau's syndrome.

° Watch Video Solution

41. Differentiate Aneuploidy and Euploidy.

° Watch Video Solution



https://dl.doubtnut.com/l/_MA8x9HeiLyBB
https://dl.doubtnut.com/l/_VhFQEu2Qn7eF
https://dl.doubtnut.com/l/_6wHQIaNJpGe2

42. What do you mean by? "syndrome"? Give

two examples.

o Watch Video Solution

Additional Questions 5 Mark Question

1. Describe female hetrogamy and its types .

Heterogametic Females :

° Watch Video Solution



https://dl.doubtnut.com/l/_hnOuuFdUSx73
https://dl.doubtnut.com/l/_HpZ4e6j7TcQo
https://dl.doubtnut.com/l/_YPPTJDyxN2zJ

2. Discuss any two Allosomal anomalies in
human .

Allosomal abnormalities in human beings .

° Watch Video Solution

Additional Questions 5 Mark Question

1. (@) Write in detail about the following

Mendelian disorders (i) Thalassemia (ii)

Albinism

| 8 l


https://dl.doubtnut.com/l/_YPPTJDyxN2zJ
https://dl.doubtnut.com/l/_fI1YjsQyiGzx

L ' Watch Video Solution J

Higher Order Thinking Skills Hots Questions

1. On analysis , a person 's karyotype reveals an
extra one chromosome of twenty first pair .
What does ths condition represents ? Which
type of symptoms can be noticed in the

person ?

° Watch Video Solution



https://dl.doubtnut.com/l/_fI1YjsQyiGzx
https://dl.doubtnut.com/l/_bk7nyewChpjm

2. A female whose blood group is AB~ got
conceived and later it is diagnoised that her
foetus possess B What measures would be
taken to prevent the focus from Hae molytic

disease of New born (HDN

o Watch Video Solution

3. The following table shows the genotypes for

blood grouping and this phenotypes .


https://dl.doubtnut.com/l/_0fX9zVvBMveU
https://dl.doubtnut.com/l/_zgUkyIDhyjf5

Complete the table by filling the gaps .

0 (;L:no(_\'pc 1T Phenotype
(G E A
y A

: AB
1°1° ?

S.

|
I

BRI -7

o Watch Video Solution

4. Give one example for each of the following
group of drugs .

(a) Stimulants (b) Analgesic (c ) Hallucinogens

o Watch Video Solution



https://dl.doubtnut.com/l/_zgUkyIDhyjf5
https://dl.doubtnut.com/l/_OAJiGUIrJgQk

